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< FUSX W > 6,565,392 6,557,579 7,813
OA SN 4R SHEAE 14,693 14,692 1
OJI= = 409,595 441,862 N 32,267
Ok SEZEAMHIA St EX 67,796 72,272 N4L4T76
OSIIJLALMEI A & B 114 64 50
OLoESSIIZ2MEIAAY K& 44,920 40,143 4,777
O2UE=XX &AL 14,964 15,620 A 656
OdA=sN 423,611 424,750 A 1,139
O F2d0=80t828XE 4,800 0 4,800
O 3449 sotel g3 N& 1,200 0 1,200
Odffet. &M= 0 5,659 5,686 A7
OXEZZAY 109,335 108,523 812
Odzg duad & 225X & 109,687 98,877 10,810
OREstts 188 2=2¢ 63,252 57,154 6,098
OX<d0tsHH Jl=23l 72,216 67,634 4,582
OO0t =X W AHALSI AL It X&) 14,424 14,428 A4
SSHa0ls MIEIE 11,241 8,096 3,145
OHMeHA= 115,251 121,836 6,585
OZMANFAIE JISELAY 3,225 3,225 0
OZMANFAIE 2EHl XA 61,900 63,650 A 1,750
OXSOotSHE S ALA X < I & HI 4,248 3,960 288
OLolgditel ¢ AsEgsSKH & 492,589 422,880 69,709
OZdEs € 4838 IIUS 333 488 A 155
OXAUSA 325 AXE 950 1,214 A 264
OZS2FA HIEXNE ALY 135 180 A45
OFAFLW=0t3tHI0I X & 24,512 23,270 1,242
oggots 2dx5+¢ 2,160 4,753 A2,593
oggots HEXH 0 810 A810
Og=2usXEAMHA X 4,671 5,490 A819
OZ&0I2UX SHANHIA 2,223 2,222 1
OU=2=ItE g e X 3,010 3,013 A3
OU2sIIEXNAEEH SAHA o1& X & 10,468 10,963 A 495
OUZSIEXNJEE SAA SX==& 3,591 3,888 N 297
OUZSIEXNJEE SAA 2 480 0 480

_78_




09 i 0

500 Ex=
520 Al - SHIE X
521 Al - EHIEX

Z.op-g-2 0 &k o4 p[E-T" HR 2
OSSR 22 X 379,813 430,500 50,687
ODAZE & F XA bl 225 215 10
OoZ0ld =2XE20 X 2,880 0 2,880
<AL > 1,440,055 1,426,255 13,800
OHAXA HE(S0HE) 57,000 60,000 £3,000
O (DI2)2s 2 N 15,200 0 5,200
OANLDESOF SAAR QHMEIS(ALDER0F 22 ¥
IEIDICSERSY
1,600 0 1,600
< TIHHD > 502,995 513,428 £10,433
Q40505 HEHE HIXAAZ 10,080 9,936 144
OANUsEHA HEXZAY 142,025 160,026 218,001
OB 2z &3 0 20,000 £20,000
OHSREE 0F2 £2I| £ ABAL 4,500 0 4,500
OXNR2OIZBDHI FHANY AL 7,200 6,200 1,000
OBSFY CAIA Z2AMY 60,000 42,000 18,000
OOHTISX EHOIE AL 4,900 0 4,900
OASIZIIY X2 A 13,897 14,873 A 976
< HANAD > 558,035 556,198 1,837
OXNYANEZA SHAXAAY 20,722 19,300 1,422
Og2AL MY 20,322 19,907 415
<oz XN > 95,811 95,438 373
OOED N2 oy 1,500 1,127 373
<Ilz2a > 38,100 17,100 21,000
OMZRSE0F MY 21,000 0 21,000
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